H £ 0l & AF & S

Al A

0238 20ilaF LetelH AL S
FAN AZUSH
Hu: ALHE =7
el HEHIYR=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FaFSNME==y, 31,005,202 25,647,097 5,418,105
= 1,687,438
[ 717,000
= 3,603,355
Ea 24,857,409
= 200,000
ALy = 109,110 97,618 11,492
= 3,790
o 105,320
Fap=joipsjaaltats| 109,110 97,618 11,492
== 3,790
o 105,320
MIESPUE = 8,580 8,250 330
201 2= 8,580 8,250 330
01 AtR2t2lt] 8,580 8,250 330
OWLETZE 0|SAEE)| BANL4E
1,100,000& %12 1,100
O=d St EX1& K& 935,000 <8 7,480
WSETA 13,000 13,000
401 Al HIZ S OHbI 13,000 13,000
01 AlZ2H| 13,000 13,000
OZk WSE TAES 13,000,000& 13,000
=SR2 57,700 47,200 10,500
201 2= 47,700 47,200 500
01 At22telt] 47,700 47,200 500
OITRML 57, S|, LB} 242
40,000,000 40,000
O=3sMi2e] FPXZAAE(D-DAS) &2t
ctOol & A 20K 7,700,000& 7,700
401 Al HIZ R 0HHI 10,000 10,000
03 Al2 = THHI 10,000 10,000
O=2Z:Me FXNES+ FHILX=
10,000,000 10,000
NYE =79 2el 3,790 3,790 0
= 3,790
401 Al HIZ R 0HHI 3,790 3,790 0
== 3,790
01 Al&H| 3,790 3,790 0
ONgE =79 2 3,790,000& 3,790
= 3,790
EX24ER 12,200 12,200 0
202 04l 10,200 10,200
01 =LHAHI 10,200 10,200




FAN AZUSH
Hu: ALHE =7
el HEHIYR=A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEFEEIEEESIICY
10,200,000 10,200
203 =] 2,000 2,000
03 A=A PR FA| 2,000 2,000
OAH&WS gFFN 23H]
2,000,000& 2,000
C2FE2AL 13,840 13,178 662
101 e124d| 13,840 13,178 662
M ORINZZ2NSE S 13,840 13,178 662
OE2&EEoIt gREx FY 13,840
=0 76,9603 x 12 *162& 12,468
-ABIEE0I2RES 12,468,000 *11% 1,372
ANYEALELY 15,415,741 1,237,752 4,177,989
= 1,676,000
== 1,211,000
o 12,328,741
= 200,000
TEE LAY 3,376,000 2,456,000 920,000
z0I=2ENEY 106,000 206,000 100,000
202 04dl 6,000 6,000 0
01 2L AL 6,000 6,000 0
O=2gR =AY 6,000,000 6,000
401 AIEHIZ SR OHYI 100,000 200,000 100,000
01 Al&HI 100,000 200,000 100,000
Oz 028X EXNEY
100,000,000 100,000
Hlat-stE 2t B S LI ALY 700,000 650,000 50,000
401 Al HIZ 2018 700,000 650,000 50,000
01 Al&H| 700,000 645,905 54,095
OH|&-8tH2HZ2 = 188) =SS E(L=0.5km)
700,000,000 700,000
StE-Z At 2 E L HALY 170,000 0 170,000
401 Al HIZ R 0HHI 170,000 170,000
01 AlZ28| 168,776 168,776
Ostd-g4RH 2 188) @ E & ZH(L=2.6kn)
168,776,000& 168,776
03 Al 20HHI 1,224 0 1,224
O8td-84RHZ2E 188) 2 E S E(L=2.6kn)
170,000, 0002 %0.72% 1,224
AS-AH2 DS LY SA 300,000 500,000 200,000
401 AIEHIX R0 300,000 500,000 A200,000
01 A28l 300,000 496,400 196,400
ONS-#HRHZE 1838) @ EEELE(L=1.0km)
300,000,000 300,000
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FA AZUSH
Ho: (AL
oSl REEHTIAIY COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
25|-R32 2ESETALY 1,000,000 1,000,000
401 AIZHIZ SO 1,000,000 1,000,000
01 Al&HI 993,700 993,700
O23-232H (2% 18) 2SS ZE(L=0.%m)
993,700,000 993,700
03 AIESTHYI 6,300 0 6,300
245|-LIHZE 118) PEHEZ(L=0.%n)
1,000,000, 000& *0.63% 6,300
Y-S 2L HAY 800,000 500,000 300,000
401 AlEHIZL R0 800,000 500,000 300,000
01 Al&HI 794,960 496,400 298,560
OU-524(2& 78) 2EE L F(L=0.4km)
794,960,002 79,960
03 Al =CH| 5,040 3,600 1,440
OLA-BS2HRE 758) 2EHEE(1=0.4m)
800,000, 000& *0.63% 5,040
LHAH-LH AR Z S T ALY 300,000 400,000 100,000
401 A2 HIRL R 0HbI 300,000 400,000 100,000
01 Al&HI 297,840 397,120 299,280
OWA-LEARHZE 198) 2 E & EH(L=0.%m)
297,840,000 297,840
03 A2 THYI 2,160 2,880 AT20
OUa-UaRHZE 198) 2SS ZE(L=0.%m)
300,000, 0002 *0.72% 2,160
sHEEZSHEH 4,230,000 3,600,000 630,000
sHEZZIESENEY 100,000 100,000 0
401 Al HIZ S 0HbI 100,000 100,000
01 AlZ8| 100,000 100,000
Os0HEZZ UI=2EX EX2Y
100,000,000 100,000
AE-AAZ SHECZ S LAY 20,000 20,000
401 AIZHIZ SO 20,000 20,000
01 Al&HI 20,000 20,000
OUE-AHH(RIE 205) SHEZZ ST H(
[=0.23km 20,000,000& 20,000
TA-FAHZ SHEZZEZHALY 30,000 30,000
401 AlZHIZ SO 30,000 30,000
01 A28l 30,000 30,000
OFA-2AHRH(EIE 2188) sHECREEE(
L=0.4km) 30,000,000 30,000
M- E2 SHEZZ LAY 400,000 0 400,000
401 AlZHIZ S0 400,000 400,000
01 Al&H| 397,120 397,120




FA AZUSH
B (AL
&t SHECZEEY (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBH-EE2H2lE 205) SO=E2etma(
L=1.3km) 397,120,000& 397,120
03 Al =2 0HHI 2,880 0 2,880
O#N-HE2H (2T 2205) sHEZZ2 &L EH(
L=1.3km) 400,000,000& *0.72% 2,880
RE-4SY SHEZEHEIIAIS 150,000 150,000
401 AIEHIZ R 0HYI 150,000 150,000
01 Al 150,000 150,000
ORE-AE2H2IT 2085) SHETREHTH(
=0.08km, W&f) 150,000,000 150,000
AE-5lE2t SHECZ S LAY 200,000 300,000 100,000
401 AlEHIZ S 0HbI 200,000 300,000 100,000
01 AlZH| 198,560 297,840 99,280
OdlE-otE2H(elE 2118) sHEZZ2 & EH(
L=0.65km) 198,560,000 198,560
03 Al 20HHI 1,440 2,160 AT20
OdldE-5te2t (2l 2118) sHECREEE(
L=0.65km) 200,000,000 0.72% 1,440
otr-otc2t SOHEEZE SHEHAY 80,000 80,000
401 Al HIZL 01| 80,000 80,000
01 Al&HI 80,000 80,000
Odte-ote2H(elE 2108) sHEZE & EH(
L=1.0km) 80,000,000& 80,000
ST SHETZE LAY 1,000,000 400,000 600,000
401 AlZHIZ SO 1,000,000 400,000 600,000
01 A28l 993,700 397,120 596,580
ST 2L 20658) sSHEZZEZEH(
L=1.0km) 993,700,000 993,700
03 Al 20HHI 6,300 2,880 3,420
OSs-2A2H(2lE 268) sHEZE2 &L E(
L=1.0km) 1,000,000,000& *0.63% 6,300
PFE-2F SHECZELIAY 500,000 500,000
401 AIZHIX S0HH 500,000 500,000
01 AlZH| 496,400 496,400
ORFE-2F2U(2UE 2165) SHEZZSZH(
L=0.6km) 496,400,000 496,400
03 Al 20HHI 3,600 0 3,600
OR-2F2(2lE 2155) sHEEZ & EZK(
L=0.6km) 500,000, 000&+0.72% 3,600
HE-UE82 sHEZSHZIA 400,000 700,000 A300,000
401 Al HIZ S 0HbI 400,000 700,000 A.300,000
01 Al&H| 397,120 695,590 A298,470
OUE-UE2(2lE 2108) sHEZZ &L EH(
L=0.8km) 397,120,000 397,120
03 Al = THHI 2,880 4,410 21,530




FA AZUSH
B NYCHLSEE
el SHEEZEZY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUE-tHE2(2IE 2108) sOHEEZEEH(
[=0.8km) 400,000,000&*0.72% 2,880
S5-g=2 SOHEZZEEZE A 400,000 300,000 100,000
401 AIEHIX R0 400,000 300,000 100,000
01 A28l 397,120 297,840 99,280
O&Z-ADN(UT 1025) SOHEERSHTH(
L=0.6km) 397,120,000 397,120
03 AlE220HHI 2,880 2,160 720
OZ2-YURH(HUE 128) sSHEZZHEZ(
L=0.6km) 400,000, 000&+0.72% 2,880
EE-HRL SHEZZSLHALY 700,000 400,000 300,000
401 AlEHIZ S 0HbI 700,000 400,000 300,000
01 AlZH| 695,590 397,120 298,470
OE-422(2c 1M&H) sHEZZHE
ZH(L=1.06km) 695,590,000 695,590
03 Al 20HHI 4,410 2,880 1,530
OE-42(Ct 1MEd) sHEEZZHE
ZH(L=1.06km) 700,000, 000& +0.63% 4,410
HE-2Y SOHEZZS LAY 250,000 0 250,000
401 Al HIZL 01| 250,000 0 250,000
01 Al&HI 250,000 0 250,000
ORG-2E2H(HE 1018) sHEZZE L EH(
L=0.2km) 250,000,000 250,000
CERNEFAY 7,809,741 5,181,752 2,627,989
= 1,676,000
= 1,211,000
o 4,722,741
= 200,000
ol CHHI =2 2H 380,688 350,608 30,080
201 el 110,988 97,908 13,080
01 At22t2lt] 26,450 11,280 15,170
OkzE+2 e+ 2
5,600,000& 5,600
O=olf & &oliti® S22 2 SAHI
4,000,000 4,000
ONMEXY g9 150,000 *9H 1,350
O=z2E+2 I d+ 7Y
50,000& * 122 600
Okz2+3d ot S|
600,000 x 12 7,200
020238 D-DAS(RIZFE) 2t 2told A F20H
7,700,000 7,700
02 S5=24g4l 84,538 86,628 22,090
Okz2=2 A € HExt &IIes
200,000 * 122 2,400
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FA AELS
M (YcALSHTE
=Rl EERANEFAE EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
ON&XtD &+=El= 150,000& « 12& 1,800
Ookz&elE x| 8,208,000& 8,208
ONMdaiL)] SFH 15,390,000 15,390
O1EE™ =2l & |RFMH
15,000,000 15,000
ON& &l ==2ltl 40,000,000 40,000
OMEZHIX D RABHIAIAY 23
120,000& * 122 1,440
OSd& ME0AE a7 Siz
300,000 300
206 MH=HI 93,200 113,200 220,000
01 MHZH| 93,200 113,200 /20,000
O&aiti&E 2 16,000,000 16,000
OZA=0ILIZEN S 24N 7
6,400,000& 6,400
O0tA2 AIET +
12,0002 *800% 9,600
ON&EH SN2+ &
1,200,000 1,200
OM&X & 60,000
-gatzs 30,000,000 30,000
-HNEEL= 30,000,000& 30,000
401 Al HIZL 201 175,000 134,000 41,000
01 Al&H| 15,000 20,000 /5,000
Ough|, XX OFEE Ni==&H]
15,000,000 15,000
03 AIZ 2 THYI 160,000 114,000 46,000
ORM& 2« THoll ZHl YX=(15E 8X)
800,000& *11CH* 102 88,000
OHM#& 2 THoll &Hl YX=2(S4DI)
800, 0002 *9CH* 102 72,000
405 AHaHE = 1,500 5,500 24,000
01 It =S F = 1,500 5,500 24,000
OulFII e 500,000 *3CH 1,500
WSAD H2 R HEAL () (HEAY) 240,000 0 240,000
S 120,000
o 120,000
401 AlZHIZ SO 240,000 0 240,000
== 120,000
o 120,000
01 Al&HI 240,000 0 240,000
OAMDZ2R HEAIH (SE)
240,000,000 240,000
= 120,000
= 120,000

»
|




SN ALDED
MM NYUCALSTH
=Rl EERANEFAE EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
2T SABHAIL 767,725 1,546,600 AT78,875
401 AlIEHIZ 21| 767,725 1,546,600 AT78,875
01 A&t 750,000 1,530,000 780,000
OZE |NEx 200,000, 0002 200,000
OOtetE 22+ | 50,000, 0002 50,000
O S2EXE (27 =4)
100,000,002 100,000
OOtARH M 2| 200,000, 0002 200,000
O2% 42 JHl S 200,000, 0002 200,000
03 Al S ThH| 17,725 16,600 1,125
ORERNEL HHlUXE
13,000,002 13,000
OZE SXEL A
750,000, 00024+0.63% 4,725
SOECR SXPHAI 1,408,004 1,698,544 290,540
401 AlIEHIZ 20| 1,408,004 1,698,544 290,540
01 A&t 1,390,000 1,680,000 290,000
OSHEEZ SXE4 200,000, 0002 200,000
OS0ET2 XM TA (27, L=25kn)
100,000,002 100,000
OOtA RS M 2] 200,000,002 200,000
Os0ECR Hj4+2 &Hl S
80,000, 0002 80,000
OnE HUIHEY 150,000, 0002 150,000
ORE WALSEI} 30,000, 0002 30,000
SImEE R 20,000, 0002 20,000
ONSEANLS HRSSES(EHD)
20,000, 0002 20,000
ONSEANLS SN2H(#FD)
70,000, 0002 70,000
OUTAS B2 (BRED)
20,000,002 20,000
OAST THIHLAIR (20109 THHSH DA
STHY SOIAIY) 500,000, 0002 500,000
03 Al&SCHY| 18,004 18,544 AB40
Os0ECRRXE4 ZHATE
13,000,002 13,000
OS0ET 2SN L4 Al
1,390,000, 00024 +0. 36% 5,004
ORI01 25 2% I A (HEALL) 150,000 0 150,000
& 75,000
= 75,000
401 AIEHIZ 20| 150,000 0 150,000
= 75,000
2 75,000




FA AZUSH
M (YcALSHTE
=Rl EERANEFAE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 150,000 0 150,000
O0gl0I2=+< JHE ALY
150,000,000 150,000
= 75,000
Ea 75,000
=of & =Je=s 5,000 5,000 0
305 e =S 5,000 5,000
01 that= S 5,000 5,000
Otia=s 5,000,000& 5,000
SOINSHEEH S AXIAMS (HEAIY) 280,000 0 280,000
= 140,000
= 140,000
401 Al HIZ 2018 280,000 0 280,000
= 140,000
[Ea 140,000
01 AlZH| 280,000 0 280,000
OXNSWNSHMEZINLAIY KX 24=H]
280,000,000 280,000
s 140,000
s 140,000
LOIESAA HEAIG (EX)(HEALY) 250,000 0 250,000
& 125,000
= 125,000
401 Al HIZL 01| 250,000 0 250,000
= 125,000
o 125,000
01 Al&H| 250,000 0 250,000
OLEs 7Y HEAIL(SH a022 32
g) 50,000,000 50,000
=S 25,000
s 25,000
OLQIE5 7 HEAMH (A0l SS32l B2
g) 50,000,000 50,000
= 25,000
= 25,000
OLoEs7Y IHEAIG (WS S&E32 32
g) 50,000,000 50,000
=S 25,000
s 25,000
OLE25 7N IHEAIG (U= 422 B2Y)
50,000,000 50,000
= 25,000
= 25,000
OLEs7Y IHHAIG (M= xHE2e| 32
g) 50,000,000 50,000
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2A:
T ZH -
o e

Sk

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

A H

25,000
25,000

T
02
o
ou
R
0z
=
©

M

el

400,000
100,000
100,000
200,000

400,000

401 AIZHIZ 20

M H

m

400,000
100,000
100,000
200,000

400,000

01 A&l

O84St 23tHeZLEAY

0O1919.4.2. AAHCIZLEALY

200,000,000&

A

m

200,000,000

M H

4

400,000

200,000
50,000
50,000

100,000

200,000
50,000
50,000

100,000

400,000

HH W

2,892,000
1,446,000

434,000
1,012,000

500,000

2,392,000

401 Al HIZL S 0HYI

Mo W

2,892,000
1,446,000

434,000
1,012,000

500,000

2,392,000

01 AlZHI

)

10
og
b
12

OS A SDRAEX S FHHIAIS (BEX 7

SHIAI (M2] X2

1,266,000,000&

MW

1,626,000,000&

HoH W

2,892,000

1,266,000
633,000
190,000
443,000

1,626,000
813,000
244,000
569,000

500,000

2,392,000

50,324

80,000

AN29,676

50,324

80,000

A29,676

50,000

80,000

230,000




FA AZUSH
B NYCALSEE
=Rl EERANEFAE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
084 sueel(sst2) AZER
20,000,000& 20,000
Ot tHEel A=EXI(L=80m)
30,000,000 30,000
03 Al 20HHI 324 0 324
Ol=4 Xl AIZ 20|
50,000,000 *1.08%*60% 324
KHATHOH BN A X ZEXIT) BHIAY 460,000 0 460,000
= 230,000
< 69,000
Ea 161,000
401 Al HIZL S 0HYI 460,000 0 460,000
= 230,000
s 69,000
s 161,000
01 AlZ8| 460,000 0 460,000
Og&En Mitd 460,000,000& 460,000
= 230,000
= 69,000
o 161,000
PIEEE2RTNE (HEAIY) 296,000 0 296,000
[ 148,000
Ea 148,000
401 Al HIZL S 0HYI 296,000 0 296,000
S 148,000
= 148,000
01 Al&H| 296,000 0 296,000
ORIEE2RRNEANS (BHEER)
296,000,000 296,000
= 148,000
Ea 148,000
OIS A 150,000 150,000 0
401 AIEHIZ SR OHYI 150,000 150,000
01 Al&HI 150,000 150,000
OL0IB 57 HA A
150,000,000 150,000
saliiz =8 SESII(E22E M) 80,000 80,000
401 Al HIZ 2018 80,000 80,000
01 Al&H| 80,000 80,000
O34 2itiel HSUXE £X
10,000,000 10,000
Oz=& el =4 XIA
30,000,000& 30,000
Oaty d¥84c| sHEEZ =28l
40,000,000 40,000
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SN ALDED
. NSHME A
&Pl WESEASH EEED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
nSHF Ho 16,487,627 14,267,103 1,220,524
= 11,438
= 717,000
== 2,388,565
o 12,370,624
WNSEASH 15,473,787 14,249,532 1,224,255
= 11,438
[ 717,000
= 2,388,565
= 12,356,784
SIS SYUDX =LA (HEALY) 2,712,000 1,807,743 904,257
= 1,897,500
Ea 814,500
401 AIZHIX S0 2,712,000 1,807,743 04,257
= 1,897,500
o 814,500
01 AlZ2H| 2,692,000 1,807,743 884,257
Ost=2 St S LA ZEAE
2,692,000,000& 2,692,000
[ 1,883,500
Ea 808,500
02 Zeltl 20,000 0 20,000
O MSAt SEXIA ZEA
20,000,000& 20,000
= 14,000
Ea 6,000
AE SR E XA 2 5,120,000 5,120,000
307 @I2t01 & 5,120,000 5,120,000
09 2=FAHEXS 5,120,000 5,120,000
O2+gH FIIEEXS 5,120,000
O (HA, EAl) 720,000,000 720,000
-stE(Le, 8€) 4,400,000,000& 4,400,000
VE2HA 2HE6 AHAete WESH A3 4,000 0 4,000
= 1,200
s 2,800
301 LEtE NS 4,000 0 4,000
= 1,200
[Ea 2,800
14 JIEt2 = 4,000 0 4,000
OLgxt 28HH AL HE W SHI
NI=) 4,000,000 4,000
= 1,200
= 2,800
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SN ALDED
. NSHME A
el WSEHYsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
nSHMAIZ2e|2Y 734,391 690,977 43,414
201 er23 | 120,800 76,000 44,800
01 At2teltl 92,000 64,000 28,000
OusSHd 22= MEH|
12,000,000 12,000
OusHSS 2HEH =8
38,000,000& 38,000
OMHEIM0et IIBA =58
2,000,000 =21CH 42,000
2 s5=34l 28,800 12,000 16,800
Om=3tolet J1712S8(JIIe3, SAR)
28,800,000 28,800
206 M=l 40,000 40,000
01 M=4l 40,000 40,000
OnSEAIE ¥ 28 PURISI|, AR
S 8) 40,000,000& 40,000
401 Al HIZL 201 573,591 574,977 A1,386
01 Al&H| 570,000 570,000 0
OnSEAIdE dXIAE(MSI], BRI,
S2S, LHHEA S) 220,000,000 220,000
OSIckS3tHet dXAMG (BE, A5, O
5) 40,000,000 ¥4} 2 160,000
ORELVTA SXBA
30,000,000 30,000
OLEHTAE FAESAMA (S, 201, &
g, Us) 80,000,000& 80,000
OnSHEAIE SXE-AS (3, U, &
o, 45, 23) 80,000,000 80,000
03 Al 20HHI 3,591 4,977 A1,386
ONSAFALE &3l 2OiH]
570,000, 0002 *0.63% 3,591
SAlled =42 1,273,334 1,368,000 AN94,666
= 382,000
[ 39,418
Ea 851,916
307 lztol & 1,273,334 1,368,000 N9A,666
s 382,000
s 39,418
s 851,916
09 2=FAHEXS 1,273,334 1,368,000 A94,666
O8Xcd &=a2a 1,273,334,000& 1,273,334
= 382,000
= 39,418
o 851,916
AMU(SHE)HA 28AHY HEXIRA 582,400 886,839 A304,439




2A: Aduns
M pEHE M
Crelr DEHOISH (ol @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 291,200
= 291,200
307 212+01 A 582,400 886,839 A304,439
& 291,200
= 291,200
09 2=SHE 582,400 886,839 A304,439
OsEHA 28AHE THEXIR
582,400,000& 582,400
T 291,200
= 291,200
FUHEANELEX MES 2,227,205 0 2,227,205
701 JIEIRI HSEES 2,227,205 2,227,205
01 JIEtAH M ES 2,227,205 2,227,205
OFANBAILLR BES
2,227,205,000& 2,227,205
S=E USRE MY & 580,000 600,000 A20,000
= 290,000
= 87,000
= 203,000
307 2I2+01 A 580,000 600,000 220,000
= 290,000
T 87,000
= 203,000
09 2xAAHEEXZ 580,000 600,000 220,000
O=28 DERY MY TN
580,000,000& 580,000
iy 290,000
& 87,000
= 203,000
HEHE 160,000 0 160,000
207 A IHLH| 160,000 160,000
01 g2 29| 160,000 160,000
ORIEEY PEHE YA I8 178
oA 160,000,000& 160,000
SIS &AM dA2EY 22,000 22,000 0
207 AR | 22,000 22,000
01 H72=29| 22,000 22,000
Os0EHA JZAH 24 L HXd &
NS AREA 22,000,000 22,000
Al JIEZH =5 XIAAIE(ZHI) 36,000 36,000 0
= 10,800
= 25,200
307 212+01 A 36,000 36,000 0
& 10,800
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AN AZUSH
33 IS A
&Pl WESEASH EEED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 25,200
B 2=gHEXS 36,000 36,000 0
OHAIIISZH 248 XA
36,000,000& 36,000
== 10,800
[Ea 25,200
SHEHA H2Rs =42y 361,300 361,300 0
307 lztol & 361,300 361,300
09 2+AE2LS 361,300 361,300
OSEHA CUQT SaPA
361,300,000& 361,300
SIYEAl 28 196,500 201,500 /5,000
[ 45,000
= 60,600
= 90,900
301 EtE N = 196,500 201,500 25,000
= 45,000
< 60,600
s 90,900
14 IIEt2 8= 196,500 201,500 /5,000
O3 LAl 2EXH 196,500,000& 196,500
= 45,000
< 60,600
[Ea 90,900
HAZEAAY 3= & 2 181,304 183,973 2,669
201 er23 | 3,600 36,000 A32,400
2 35234l 3,600 36,000 A32,400
OHAZEHHI HIILS
300,000 * 12 3,600
403 AXIEHMSA=Z0l1d 177,704 147,973 29,731
02 S7I2S0 e H=E 2 E AL 177,704 147,973 29,731
OHAZECHI|, XFEHEI| EX & AlA
8 =2 177,704,000 177,704
WSHM X T AHY 8,000 11,000 23,000
307 glztol & 8,000 8,000 0
02 LB HAHE L 8,000 8,000 0
OusSHdX ALY K& 8,000,000& 8,000
Al SHYSB2ACANAE 2F 2,651 2,602 49
308 AXIHMSOIA 2,651 2,602 49
1 SIS0t AS A 2,651 2,602 49
Ol 2HFBRACIAAHE 2
2,651,000 2,651
Al JIEZH =8 XE A 10,000 10,000 0
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2A: Aduns
M NESHA A
&Pl WESEASH EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 10,000 10,000
09 2+HEXZ 10,000 10,000
OHAIIIEZHM =22 XIAAL (XHA)
10,000,000& 10,000
EAl S2& HH| 20,000 55,000 235,000
401 A& HIZLE0HY| 20,000 55,000 A35,000
01 Al&Hl 20,000 55,000 A35,000
OEANSZE RAES AL
20,000,000 20,000
HASZE EUIALS 177,000 229,000 A52,000
401 A& HIZL20HHI 177,000 229,000 A52,000
01 Al&HI 177,000 229,000 A52,000
OHASZE (==, 210]) XA
137,000,000& 137,000
OHASZE FAE=AS
10,000,000& 10,000
OHASZE B2 TH XA
2,000,000& »15JH 2~ 30,000
=228 ANERL 29 144,000 177,000 A33,000
201 LB-2AH| 1,000 2,000 21,000
01 AtR2telt] 1,000 2,000 A1,000
OARBE s 23 74 1,000,000& 1,000
307 212+01™ 120,000 120,000
05 QIZtRIErZ 120,000 120,000
OIANEBEA 2N 120,000,000& 120,000
401 A& HILS0HY| 20,000 50,000 A30,000
01 AlEHI 20,000 50,000 230,000
O338 LNERL FRE=
20,000,000& 20,000
405 KHHESH| 3,000 5,000 A2,000
01 XML =ZFSHI 3,000 5,000 A2,000
OLNEERAL 23 72 3,000,000& 3,000
FEIHS 385,418 343,618 41,800
201 B2 AY| 206,378 178,858 27,520
01 AR2teld| 15,760 15,600 160
OFEXHR =&H| 6,000
-8 AL HHHE=FE [0
300 *10,0000H 3,000
=X HE & 222 dEHE
3002 %10, 00004 3,000
OYXIXtE Aeld| 70,0003 *40CH 2,800
OSEFEI JIAAHE 018 =2
80&*12,00024 960
OSYHFEI 228 Sd3tE
50,0003 *800H 4,000
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A AdnsSht
M WNSHE WA
ol usEAsd (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O=FAEs U REALEA 2
1,500,000& 1,500
OUSIIE L= g 442
500,000& 500
2 S=29| 190,618 163,258 27,360
OCCTV 2IHYIe=a & MIIR3
120,0002 *79CH* 123 113,760
OCCTV FXI2==H| 25,000,000 25,000
OIMA A =EHAIAE 2244
140,000& 128 1,680
ORHUXXNSI HIHS SE+=+=
3,550 *50CH 178
OsJ|2H & YoteEez3
2,500 *20,00024 50,000
202 0idl 13,440 13,960 A520
01 =WHO4 LI 13,440 13,960 AB20
OQusadsE HFF& odl
13,440,000& 13,440
401 Al HILS0HY| 165,600 150,800 14,800
01 Al&HI 165,600 150,800 14,800
OFEXS X 72 M
30,000,000 30,000
OFJ X Stoller XA
20,000,000 +6CH 120,000
OFZ XS ot ZE WXl
2,600,000 *6CH 15,600
OAXSIEDIE MHE XA 50,000 50,000 0
307 2I2+01A 50,000 50,000
03 QX HER2GHIEX 50,000 50,000
OLDBIHALHOIE WEX
50,000,000& 50,000
Sgunsst 249 354,500 279,000 75,500
307 QI2tol ™ 354,500 279,000 75,500
05 QIZIRIErZ 354,500 279,000 75,500
OsgussH 2 354,500
uralsl 323,731,000& 323,731
-XE=AH S 30,769,000 30,769
HeHss222E 82,720 96,980 A 14,260
201 2| 73,900 78,160 A4,260
01 Ar22teltl 22,580 22,580 0
ONsxsE MA N
4,0003x83+602H 1,920
OXtsxt 22 & =% ME
250,000 *205 5,000
OXtSXt MElE DRIAM JIE
77,0003 68 A +65 2,772
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SN ALDED
M nsdE e
el WSEHYsd (SH9 H2)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
OAEIIHSE & SAHE MA J&
4,000 85602 1,920
OXgSS4d Let=ZY| 1,200
—E2A(S4E) 800,000 800
=x(3¥) 400,000& 400
OXsE8I| 285 |
24,0002 =201 2+ 128 576
OH&IIH EE= & &+ MA
100,000& *8IH A=+ 12] 800
OAEIIHESAIESS 2HE 28
2,500&1,600& 4,000
O3JI183)| dx=
33,0002+ 1CH+ 123 3%
O&=J| gxtz 33,0003 *1CH= 128 3%
O=ADI Xtz 300,000 1CH~ 128 3,600
02 222l 51,320 55,580 A4,260
OXs2EI| |FXE+H
30,0003 200 2+ 128 720
OAEIIHESAEES 25| KA
100,000& +6 600
O8JI28 & aeikies
2,500& 20,0004 50,000
202 044l 8,820 8,820
01 AL 8,820 8,820
OXeSSER=A 0l 8,820,000& 8,820
SHEHA =& I A4 22,000 22,000
207 AR 22,000 22,000
01 A1 22,000 22,000
Os0EHA = 83 JHEE I8 A&
e 22,000,000& 22,000
AMIZE #HEE SHSI(RSEE M) 10,000 10,000
401 AIEHIZL S OHLI 10,000 10,000
01 AIZHI 10,000 10,000
O&3Y &1l HASZE EXSA
10,000, 0002 10,000
0T018t E2XHAH| FAFZMAH 2SAS 17,064 0 17,064
= 10,238
= 2,047
T 4,779
401 AlIEHIZL 2 0HY| 17,064 0 17,064
= 10,238
= 2,047
a 4,779
01 A&l 17,064 0 17,064
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150
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SA - Z3F - SRA(E) - HRAEY

OH&uEW M=) UH +

150, 000& *1H
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